Hf5

[F3Y) 7]

FE %2 8[H EFE

[ | [Gowe |

BEERLTY v H—BFHEAS

BIAR BRBELT
BRI ERLT 1 JEAM
PREEZTF B E
hEXAM ERZFEE ot [if=EX G N
AT a—Ib
8 =5
B 14:00 A 15:50
it - - =] -
mens) | | mmmExT o ( °y o mm BEET (00 mmkrmR
TFEE -0 hRSELF 0 -1
B 13:30 A 15:20
- _ EAKT - _
ETAEE | M o (270 & 1 (9T o mIAmE
0 -2 PHEERT 1-0
98108 (H)
A 10:00 B 11:50
- - AU
nsan | hEEAM s (° 7 %) o mmmx | PoA (10 M
3 -0 TAME 0 -0 W PE
A 10:00 B 11:50
_ - _ _ - AN
mTxw | mEEE o (0 1) o @TAmm |mmsExF o (0 %) 1
0 -2 0 -1 RS
98168 ()
A 10:00 B 11:50
nerni | nEkam 2 (0 1) 1 mRxrEs | wm s (2°%, 5 EE*
2 -0 1-1 TAHE
8PK 9
3AfRER  13:00 126 RER  14:50
_ - _ - Fif=E
spuAE) | mTAuE | & 2 (1T %) s mTxmm | hamxaM 1 (0 %) o
1-1 1-0 EAME
2R
— B ENE . B ARG
Group A || mE | harnmlamarme] T gl OO lm|= ‘; o GroupB  |mmmess| wm | mm |meses E;s:;\% REE ol Z -
@] [e) @] L]
BIAEE * 3 -0 * X 2 -1 0j0)0|8f5[1]4] 1 BREBEXT * 4 -0 * X 0 — 1|1fojo)j1f4f4)1]|3| 3
[ ] [} [ ] [}
il - X 0 - 3 X S ojoj2fojo)|6|-6] 5 e 0 - 4 X 0 - 8 B3 * ofojo]2|0f0|12]-121 5
O @] O A
RERAM X 3 -0 * 2 -1 * ofofjo|8|5(1|4 1 =) X 8 - 0 * 3 - 3 * 1(0|1]0]|55(113]8 2
8 PK 9
[J O A O
BRLTHE ES X 1 -2 x 1 -0 ofofj1]4)2(2f0 3 [E]=ESSPNL ES X 3 - 3 * 1 of1]1]0|0f65]4]|3(1 1
9 PK 8
wALT ° ° HAM © °
E.« 1 - 2| X ¥ lo - 1| X ofof2]o|1f3|-2] 4 . - 0| X ¥ o lo - 1] X 1|]0f(0f1j4)1|1f0] 4
PRPEZTF BERPE
OBsa (B4, PKES25, PKRZLS, f0) @BXRE (KBS -HAR) ORES O OME OEICREY 2, O:Bs  A:PKEF A:PKEL @R
YN —T E2F — LT & BIBMCRERZ 1TV, RE b —F X > b,
BIABEEAERAMARE LML E B> 7cfcdd, HBOER, AEANMA TV —T 1L L TRRER~EH,
DRl b —F 2> b
[ s=sxynEeEmasys |
(9 4F3EAE 9 EE)
0 0 £
F2fir
R (EEEE e
3 2
2-1 0-2
1-0 0-0
3 0 0 7 1 4 0 0 10
5-0 0-4 8-0 0-5
8-0 0-3 6-0 0-5
R & n n & B ® s
N L] =] ] -
4 e & £ i n . s
X & = & 5 # 2
= x [ 2 ] x &
S x ES
ﬂ‘ -
f 1t = 2 B
B " W "
#& A B ]
- " =




